mwMWWWgﬁW@aﬁaﬁwwmwww@ﬁ

A& .H. : XDTG-F-GST feror gieaeRT STTFT
EL R
1654720 gteror giedent
AT FETa—d
woa-aA—I ot : 200
|HY ;| g2
FFaAA

TR o sava W
1. gdien ﬁﬁ%wmmwuﬁwgﬁmﬁmﬁmﬁmamﬁl
; mgmmmwﬁluﬁi’m%,ﬁsﬁvﬂ e

2 g;mmré%omnm—mﬁzﬁmwmﬁﬁm g

wHE
y Terelt 1 fata &% WA 3R HEEE
ggﬁimﬁmﬁmmﬁmml

Scanne d with CamScanner



1. Consi
onsider the following statements with

reference to India :

1. ;\Acc;rding to the Micro, Small and
( MeS }tll[lm Enterprises Development
ED) Act, 2006’, the ‘medium

gnterprises’ are those  with
investments in plant and
machinery between ¥ 15 crore and
¥ 25 crore.

2. All bank lpans to the Micro, Small
and Medium Enterprises qualify
under the priority sector.

Which of the statements given above
is/are correct?

(@ 1 only

(b) 2 only

(c Both 1 and 2
(d) Neither 1 nor 2

2. With reference to Central Bank

digital currencies, consider the following

statements :

1. It is possible to make payments
in a digital currency without using
US dollar or SWIFT system.

2. A digital currency can be
distributed with a condition
programmed into it such as a time-
frame for spending it.

Which of the statements given above

is/are correct?

(@ 1 only

() Both 1 and 2
(d) Neither 1 nor 2
In the context of finance,

the term ‘beta’

;f",' . ce risk

ik

4. Consider the following statements :

|, The Self-Help Group (SHG)
3 Py 1 ’tiated

programme was Q
by the StateBank—of—1aC2
by providing microcredit 10 the
financially deprived:

2. In an SHG, all rouri
take responsi ity for 2 loan tha
an individual member takes:

@’ The Regional Rural Banks and
Scheduled
support SHGs.

How many of the above statements are

correct?

(a) Only one
(b) Only two
(c) Al three
(d) None

5. Consider the fo :

Statement-1 © , care system
ic seetoT heal. with

Statcmcnt—ll : ]

U ia’s decentrahzed a ach
to health car€ delivery, the States are
rimaril sponsible for OT
hgglt.h—services.

Which one of the following is correct in

respect of the above statements?

(a) ent-II

are correct and Statement=1l-is the

correct € lanation for S ~1

(b) Both Statement-1 and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement— i
statement-1I is incorrect

(d) Statement-l is incarrect but
Statement-II is correct

ect but

[P.T.O.
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y < 5 3 S
. 6. Consider the following statements : 8. Which one of the following countrics .
jvil strife

- Jbeen sufferi 1 decades of
Statement-I : , been suffering from il s

According to the United Nations’ W

‘World Water Development Report, i
1 2022’, India extracts more than :

a quarter of the world’s groundwater Jamine?
1 withdrawal each year.

] Statement-II : ' (a) Angola
| India needs to extract more than
z_ a quarter of the world’s groundwater (b) Costa Rica

each year to satisfy the drinking water
and sanitation needs of almost 18%

of world’s population living in its | (c) Ecuador
territory.
Which one of the following is correct in (d) Somalia

respect of the above statements?

(a) Both Statement-I and Statement-II g statements :

are correct and Statement-II is the 9. Consider the followin
: correct explanation for Statement-I . ity
(b) Both Statement-I and Statement-II 1. In India, the Bl : : ey
are correct and Statement-II is Management CO -
not the correct explanation for Wt&s
~ Statement-I t‘; ie oo™ protocol. .~
s (c) Statement-1 is  correct  but of the Nagoya ~=====
Statement-II is incorrect : v i, § ment
) i R o jodiversi
: d) Statement-l is incorrect but v w&-——jw‘mt
. ~ Statement-II is correct ' ~ Committee A
. s o, ' PRI r@ms_jn__dmeminm&—ﬂcms
2 I?;_R‘:\ Vi : fi . : a e
o wer to levy collecti on

the access of biological resources

BBl usadicion.

Which of the statements given above
is/are correct? '

b (@ 1 only

.

thland2

- ‘. . “' 7 ] % ;
coraeet TR PR
e . - ¥ ' &

o
e
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10. Consider the following statements in 11. Consider the following countries :

respect of election to the President of ' ;
il B_ulgana

India :
2. Czech Republic

1. The members nominated to either
3. Hungary

{ouse t or the
i i blies of States are iy
also eligible to be included in the 4.
'Elcctoral College. o« s Lithuania

2. Higher the number of elective 6. Romania

Assembly seats, higher is the b
value of vote of each MLA of that How many of the bove—rn(;:ntlfi::le
- FNState. BE i § HE countries share 2 land border
: : b Ukraine?
heip & 8% The value O
I S e (@) Only two

A(b‘) dnly three

‘(c)'w Only four

v ey 1

(d) Onyﬁe_ﬁve.l i

{8 .
-
; > n .'_:- ﬁ'fﬂ_w 1
i
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'13. Consider the following statements :
B as-Statement-1::

| Statement-II : _
The high temperature and moisture
i i forests cause
S dead organic matter in the soil to
: decompose quickly.

Which one of the following is correct in
‘respect of the above statements?

(a) Both Statement-I and Statement-II
f-arécorrectand Statement-II is the
~ correct explanation for Statement-I
atement-I and Statement-II

{ u__Lé.nd, Statement-II is
rrect explanation for

but

15. Consider the following statements :

I In h, P_waves are

: =
recorded earlier than S waves:

2. In P waves, the individual partl(t:.loe:l

vibrate to and fro in the directi n

of wave propagation whereas o

S waves, the particles V1 e
and down at ri s

’—-———f/ . B
direction of wave progagatmn

Which of the statements given ab
is/are correct?

(a) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

ove

ermal

_based th
16. With reference to ggl,%the

. }’ﬁéf ae‘?

g v

gL
S
= 2

‘power plants in India, ¢

following statements :
1. None of them uses seawater.
T -
2. None of __is set
water-stressed district.~

;-(rf 3. None of them is rivately owned.

statements are
Yy i
orrectr
rr:' e3

(@ Only one
@R

=

low many of the above
0

diseases
{z} 1

3
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- 18. Consider the following activities :

117

Spreading finely ground basalt rock
on farmlands extensively

Increasing the alkalinity of oceans

by adding lime

Capturing carbon dioxide released

by various industries and pumping

it into abandoned subterrancan

mines in the form of carbonated
~ waters

- many of the above activities are
; e d discuss

uestration?

21. With reference to
Alexander Rea, A. H. Longhurst, R

Sewell, James Burgess and Walte

the Indian History,
obert

r Elliot

were associated with

(@)

(b)

(c)

archaeological excavations

establishment of English Press in

Colonial India

establishment of Churches in

Princely States

construction of railways in

Colonial India

22. Consider the following pairs :

1. Besnagar

Well known for

. Shaivite cave shrine

: Jain cave shrine

p et
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23. Consider the following statements :
Statement-I :
7th August is declared as the National
Handloom Day.
~ Statement-II :
! It was in 1905 that the Swadeshi
Movement was launched on the same
: day.
! " Which one of the following is correct
in respect of the above statements?
Both Statement-I and Statement-II
are correct and Statement-II is the
_ correct explanation for Statement-I
(b) Both Statement-I and Statement-II
: correct and Statement-II is
the correct explanation for
g = ’en ;;I

Eora '.'(a)

is  correct  but

" Statement—

25. Consider the following statements in
respect of the Constitution Day :

Statement-I :

The Constitution Daﬁ is celebrated on
ote
ans.

Statement-II :

1949, the
CQWQ—M i up
a Drafting Committee under the
Chairmanship of Dr. B. R. {Am‘t')edkar

to prepare a of

wing is correct

Which one of the follo

in respect of the above statements?

(a) Both Statement-I and Statemg:nt;lll
are correct and Statement—II is t Ie
correct explanation for State:rnent—-I I

tement-I and Statement—!

4 o d Statement—ll is

an
g:;ct (t:lc"xzrci:i)rrcct explanation for
Statement-1I
(c) S_fa_tc‘ment—l i§ correct but
" Statement-II is incorrect
t-1 is incorrect but

d) Statemen
i II is correct

Consider the following statements :
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27.

Consider the following statements

Statement-I :
Recently, the United States of America

(USA) and “the European Union (EV)

hgzgﬂ,_;g@gh:d/thc_;'&adé and
Technology Council’.

Statement-II :
The USA and the EU claim that

fhrough this they are trying to bring
rgg:¢§§_a_r_@_§_ﬁls_lcal
productivity under their control.

Which one of the following is correct

in respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I .

(c) Statement-I is  correct  but
Statement-II is incorrect

(o] Statement—l is incorrect but

- Statement-II is correct

28. Consider the following statements :

29. Consider ‘the following statements :

The ‘Stability and Growth Pact’ of the

European Union is a trea that

the levels of the budgetary

1. limi
deficit of the countries © e
European Union

2 akes the countries_ of _the
Egmpeangign_lg,jbgz, . their
infrastructure facilities

3. enables ’ﬂlg,ﬂ,ggy-pﬁiﬁi, of the
European Union to share their
e ies

How many of the above statements are

correct?

(a) Only on€

(b) Only two

/@)/All three
(d) None
_' 30. Consider the following statements :

1. Recentl i €
UM he
first-ever compact for in ternational

- migration, the ‘Global Compact
for Safe, Orderly —and Regular
Mmaﬁon_BCM)’.

2. The objectives and commitments
stated in the GCM are binding on
the UN member countries.

M 3. The GCM addresses internal

RIES

Wit 5

-
e

migra_tion or. internally displaced
people also in its objectives and
commitments. ~

ow many of the above statements are

- correct?

(@) Only one
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Consider the following statements :

. Consider the following statements in .
relation to Janani Suraksha Yojana :
1. Wn 1. Carbon fibres arc used in _the
of the Stdte Health De its.. sanufacture of com onents use€
i S.

Ita.nbieg_t.i.v_e.,ig-t_o_Le_d_uge.,ryg,t_e.mal
and neonatal mortality among poor 5. Carbon fi ed cannat be

regnant women.
pregnan: ——— reccle.
romote institutional
or regnant
oor  pregd Which of the s
is/are correct?
‘/

tatements given above

e —
@g___gp'ective includes providing
i alth facilities to sick
' ag (@) 1 only

, of the statements given
trect? - (b) 2 only
, (c) Both 1 and 2

(d) Neither 1 nor 2
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37. Which one of the following countries has
its own_Satellite Navigation System?

(a) Australia

Biofilters provide waste treatment
by removing uneaten fish feed. .—

2 Bi’oﬁlf’er‘s,' ammnmg present

(p) Canada
(c) Israel

(d) Japan

38. Consider the following statements :

1. Ballistic missiles are ]pgpgllp
roughout

at subsonic

their flights, while cruise rms'es

Scanned with CamScanner




uﬁ Consider  the following statements

regarding mercury pollution :

. Gold mining activity is a source
on in the world.

al wer plants
use mercu llution. {

A"T}iefe is no known safe level of

sure to mercury.
S

Qf [ the above statements are

41. With reference to Home Guards, consider

the following statements :
esHom i e
) ards Act and Rules 0 f

the bep_t;‘al Government.

to serve as an i (o)
the police in maintenance of
i al s ity.

To prevent infiltration on the
internati rder coastal areas,
MM“

the Bor
B_at.taliop_s;‘ga_ve been raised in

somg States.
How many of the above statements are

correct?

(@) Only on¢
(b) Only two
(c) All three
(d) None

the

to India, consider

,. The Act under

 which it is covere

e Official Secrets
9237 '

e
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A ~ 43. Consider the following pairs : 45. Consider the following pairs with regard
. to sports awards :
Ay s afer, Reason for being | Major Dhyan Chand : For _the most
R EGL NS grnetys Khel Ratna Award spectacular and
1. North Kivu and Ituri : War between outstandin er-
Armenia an formance L8l
Azerbaijan sportsperson over
ast four
2. 'Nagornq-Karabakh . Insurgency in )Zceanros
gy i Mozambiqtie 2. Arjuna Award . For _ the lifetime
3. Kherson and . Dispute  between . achievement by
a_sportsperson
- To honour eminent
-

~ Zaporizhzhia Israel and Lebanon
: 3. Dronacharya Awar d

coaches who have
essfull trained

HQW many of the above pairs are

correctly matched? S,

(@) Only one 7 spo;_tssp_grsons or

() Only two ‘ 4. Rashtriya Khel . To recognize the
AU RS ) Protsahan Puraskar confrbution made -

:‘_. by spor LsperSQnS

CW eir

retirement
e above pairs are

o

How many of th
- matched?

one

hess Olympiad,

ng statements in
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- pairs : 49. Consider the following heavy industries :

1. Fertilizer plants

(d) None

5 PSR

Country where

(it is located
i A : £ = 2.  0Oil refineries
' , ok s 3. Steel plants
S hin ~: Ethiopia
x North Yemen Green hydrogen is expected to play
1 a significant role in decarbonizing how
J Wmdnsm?
'£
{ (@) Only one
-?‘ (p) Only two
g
i‘ (c) All three
{

50. Consider the following statements about
G-20

-
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51. _Considcr the following statements !

1. Jhelum River passes through
Wular Lake.

2. Krishna River directly feeds Kolleru
Lake.

3. Meandering of Gandak River

formed Kanwar Lake.
How many of the statements given
above are correct?

(a) Only one

(p) Only two
(c) Al three
(d) None

52. Consider the following pairs :

‘Port Well known as

1. Kamarajar Port : First major port in India

registered as a company

: Largest privately owned

9. Mundra Port
port in India

Largest container port in

3. Visakhapatnam :
India

Port

How many of the above pairs are
correctly matched?
(@) Only one pair
(b) Only two pairs
(c) Al three pairs
(d) None of the pairs
53. Consider the following trees :
1. Jackfruit (Artocarpus heterophyllus)
2. Mahua (Madhuca indica)
3. Teak (Tectona grandis)
How many of the above are deciduous
trees?
(a) Only one
(b) Only two
(c) All three
(d) None

XDTG-F_GST/62D i

54.

Consider the following statements :
1. India has more arable area than
China.

9. The proportion of irrigated area is
India as compared to

more in
China.
3. The average productivity per
. hectare in Indian agriculture is
in China.

higher than that

How many of the above statements are

correct?

(@) Only on€
(b) Only two
(c) All three

(d) None
55. Which one€ of ,'gl'j_le» lele\{iqg(iﬁs' _the_ best
“example of repea ]s in sca 1ev_el,
ivi i extensive

56.

57. About three-fou

marshlan
(a) Bhitarkanika Mar}groves

(b) ME_E@E??!‘?IE,S@E.PBPS

(c) Naupada Swamp

(d) Rann of Kutch

I[lmenite an tile abundantl available

in certain coastal tracts of India, ar¢€
s of which on¢c of the

i ource
fgllowing?
(a) Aluminium
(b) Copper
(c) Iron
(d) Titanium
f s cobalt,

a metal required for the manufacture
of batteries for electric motor vehicles,

is produced by
(a) Argentina
(b) Botswana

(c) the Democratic Republic of the
Congo

(d) Kazakhstan

PRS0
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58. Which one of the following is a part

the Congo Basin?
(aq) Cameroon
(b) Nigeria

(c) South Sudan
(d) Uganda

59. Consider the following statements :

1. Amarkantak Hills are at the
confluence of Vindhya and
Sahyadri Ranges.

2. Biligirirangan Hills constitute the
easternmost part of Satpura Range.

3. Seshachalam Hills constitute the

southernmost part of Western
Ghats.

How many of the statements given

of

. Consider the following statements :
Statement-I :

Interest income from the deposits
in Infrastructure Investment Trusts
(InvITs) distributed to their investors is
exempted from tax, but the dividend is
taxable.

Statement-II :

InvITs are recognized as borrowers
under the Securitization “and Recon-
struction of Financial Assets and
Enforcement of Security Interest Act,
2002,

Which one of the following is correct in

respect of the above statements?

(a) Both Statement-1 and Statemgnt—ll
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-1 and Statement—u
are correct and Statement-I1 18

not the correct explanation for

Statement-I
() Only one (c) Statement-I is correct  but

above are correct?

(b) Only two Statement-II is incorrect
(c) All three (d) Statement-1 18 incorrect  but
Statement-II is correct
(d) None : .
62. Consider the following statements :
60. With reference to India’s projects on Statement-1 : .
connectivity, consider the following In the post-pandemic recent past,
statements : many Central Banks worldwide had

carried out interest rate hikes.

Statement-II :

Dibrugarh and Surat. _E:hg:;;;gl_l}_a___rﬁ(s_ggperallv T‘irmq—{t—h}?t
: : y have the ability to counteract the

| 2. mﬁpgghaﬁ? EOT}negtsth‘l?fcg rising consumer prices via monetary
A Vi My hlm’ . policy means.

3 Bgngladeah—China-lndia-Myanmar

- Economic  Corridor connects

~ Varanasi in Uttar Pradesh with

Kunming in China.

1. East-West Corridor under Golden
Quadrilateral ~ Project connects

Which one of the following is correct in
respect of the above statements?
(a) Both Statement-1 and Statement-II
are correct and Statement-II is the
3. s ek : correct explanation for Statement-I
mct;mm of the abmﬁ}atgmnts are (b) Both Statement-1 and Statement-II
> ' 21:; ct:gnect and Statement-II is
e correct explanati
~ Statement-I g
(c) Statement-I i
s correct b
ki Statement-II is incorrect it
Statement-1 is i
Incorrect
Statement-II is correct o

%7 gt

[ P.T.O.
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63. Consider the following statements :

Statement-1 :
Carbon markets are likely to be one of

‘the most widespread tools in the fight
against climate change.

Statement-II :
Carbon markets transfer resources
from the private sector to the State.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-I and Statement-II
are correct and Statement-II is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-1 is incorrect  but
Statement-II is correct

64. Which one of the following activities of
the Reserve Bank of India is considered
to be part of ‘sterilization’

(@) Conducting ‘Open Market
Operations’

(b) Oversight of settlement and
payment systems

(c) Debt and cash management for the
Central and State Governments

(d) Regulating the functions of Non-
banking Financial Institutions
65. Consider the following markets :
1. Government Bond Market
2. Call Money Market
3. Treasury Bill Market
4. Stock Market

How many of the above are included
in capital markets?

(a) Only one

(b) Only two

(c) Only three

(d) All four

XDTG-F-GST/62D

66. Which one of the followin
the concept of ‘Small Farmer

g best de scribes
Large

Field’?

(@)

(b)

(c)

()

Resettlement of a large number
of people, uprooted from their
countries due to war, by giving
them a large cultivable land which
they cultivate collectively and share

the produce

Many marginal farmers in an area
organize themselves into groups
and synchronize and harmonize
selected agricultural operations

Many marginal farmers in an area
together make a cpntract with
a corporate— body and surre nder
their land to the corporate body
for a fixed term for which the
corporate body makes a payment
o — I T N

of agreed amount to the farmers

A company extends loans, technical
knowledge and material inputs to

a number of small farmers in

an area so that they produce the
agricultur odity required
by the company for its
nla’ngia_c,tgring—,_pr,qcessﬂ ~_and

commercial production

67. Consider the following statements :

%

The Government of India provides
Minimum Support Price for niger
(Guizotia abyssinica)_seeds.

Niger is cultivated as a Kharif crop.

Spme tribal people in India use
niger seed oil for cooking.

How many of the above statements are
correct?

(a) Only one

(b) Only two
(c) All three
(d) None

|PT,0.
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68. Consider the investments in the following

assets :

1. Brand recognition

2. Inventory

3. Intellectual property
4. Mailing list of clients

How many of the above are considered
intangible investments?

(@) Only one
(b) Only two
(c) Only three
(d) All four

69. Consider the following :

1. Demographic performance

2. Forest and ecology

3. Governance reforms

4. Stable government

5. Tax and fiscal efforts :

For the horizontal tax devolution, the
Fifteenth Finance Commission used
how many of the above as criteria

other than population area and income
distance?

(@) Only two
(p) Only three
(c) Only four
(d) All five

70. Consider the following infrastructure

sectors

1. Affordable housing
2. Mass rapid transport

3. Health care
4. Renewable energy

On how many of the above does
UNOPS Sustainable Investments in
Infrastructure _and Innovation (S3i)
ipitiative focus for its investments?

(a) Only one

(b) Only two

c) Only three

(@) All four

XDTG-F-GST/62D a3

71. Consider the following statements :

Statement-I :
India, despite having uranium
fieposits, depends on coal for most of
its electricity production.

Statement-II :
Uranium, enriched to the extent of
at least 60%, is required for the
production of electricity.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-I and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-1 and Statement—}l

are correct and Statement-1I 1S
not the correct explanation for
Statement-I

(c) Statement-I is correct but

Statement—II is incorrect

(d) Statement-1  is incorrect  but
Statement-II is correct

Consider the following statements

Statement-I : _
Marsupials are not naturally found in

India.

Statement-II :
Marsupials can thrive only in montane
grasslands with no predators.

Which one of the following is correct
in respect of the above statements?

(a) Both Statement-1 and Statement-II
are correct and Statement-1I is the
correct explanation for Statement-1

(b) Both Statement-I and Statement-II
are correct and Statement-1I is
not the correct explanation for
Statement-I

(c) Statement-I is correct but
Statement-1I is incorrect

(d) Statement-I is incorrect but
Statement-II is correct

[P.T.O.
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76. Consider the folldwing statements :

1. Some mushrooms have medicinal
properties. =

Some mushrooms have psycho-
active properties.

Some mushrooms have insecticidal
properties.

4, Some mushrooms have biolumi-
nescent properties.

How mariy of the above statements are
correct?

(a) Only one

R S (D)mOnlyjptwo.;
5 “““:I‘_; - -
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81. In which one of the following regions was

8 R | R Dhanyakataka, which flourished as
k i s W ‘ S a prominent Buddhist centre under
! I 2 \ ) the Mahasanghikas, located?

! 2. Some ar ; (a) Andhra

s ~ below tt -zing .. (b) Gandhara

: : ighly acic ,envu:onment with (c) Kalinga

L a nH _ ' s -s_' “

t B, - i (d) Magadha

5 5 : f th statements are

o £
' 82. With reference to ancient India, consider
the following statements :

1. The concept of Stupa is Buddhist
in origin.

2. Stupa was generally a repository
of relics.

i d

5 T e e e ] . 3. Stupa was & votive an

{ Which one of the fc ‘ 1akes ool wed: cc nﬁnemoratlve structure in
Buddhlst tradition.

(b) | /i?‘ef? LE‘M“"
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84. Which one of the following explains 87. “Souls are not only th y of
the practice of vattakirutal’ as animal and plant life, but also of rocks,
mentioned in Sangam poems? running water and many other natyral
a) Kings employing wome objects iving by other

% g2CTID DVIRE- godgzg;ards religious sects.”

(b) LM in The above statement reflects one of
IM;MLQMEUS the core beliefs of which one of the
and ph f fatcls following religious sects of ancient

(c) ng—"@@#wr India?
agm-_(;l,_]_mJ;a_l__I_'uelds.a‘.'l-d—dlifL .
bi‘;dsg.nd—animals o (@) Buddhism

(d) A__king defeated in a battle (b) Jainism
committin ritual _ suicide by Shaivism
starving himself to death L T
; (d) Vaishnavism

g5. Consider the following dynasties :
1. Hoysala g88. Who among the following rulers of
Vijayanagara Empire constructed 2

9. Gahadavala large dam ACross Tungabhadra aner1

3. Kakatiya and a canall—currx-aquedu_Ct severs

4. Yadava kilometres 1ong from the 1iver to the

' capital city?

How many of the above dynasties I

established their kingdoms in early (@l Devarey®

eighth century AD? (b) Mallikarjuna

(@) Only one (c) Vira Vijaya

(b) Only two (d) Virupaksha

(c) Only three ‘

(d) None 80. Who among the following Tulers of

* medieval Gujarat “surrendered Diu to
86. With reference to ancient Indian History, Portuguese?

consider the following pairs : (@) Ahma d sh s

R Devichandragupta : Bilhana (c) Bgl',l?.(iﬂﬁhah
9. Hammira-Mahakavya - Nayachandra Suri (d) MMah
3. Milinda-panha . Nagarjuna il Sl 13N :

") : ’ ) . By which one O the following Acts
4. Nitivakyamrita : Somadeva Surl was the Governor General of Bengal
designated as the Governor General

of India?

How many of the above pairs are
correctly matched?

(a) Only one

(a) The Regulating Act
(b) The Pitt’s India Act

(p) Only two
((Z} ;)lllqu three (c) The Charter Act of 1793
four
(d) The Charter Act of 1833
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91. In essence, what does Due Process of
Law’ mean?
(@) The principle of natural justice

(b) The procedure established by law
(c) Fair application of law

(d) Equality before law

92. Consider the following statements -

Statement-I :

In India, prisons are managed by
n

State
W he
day-to-day ad ini ion of prisons.

Statement-II :
In India, prisons are governed by the
Prisons Act, 1894 which expressly
kept the subject of prisons in the
— control of Provincial Governments.

Which one of the following is correct in
respect of the above statements?

(a) Both Statement-1 and Statement-II
are correct and Statement-II is the
correct explanation for Statement-I

(b) Both Statement-1 and Statement-II
are correct and Statement-II is
not the correct explanation for

Statement-I

(c) Statement-I is correct but
Statement-II is incorrect

(d) Statement-I  is incorrect but
Statement-II is correct

93. Which oneé of the following statements
best reflects the Chief purpose of the
‘Constitution’ of a country?

(@ It determines the objective for the
making of necessary laws.

(b) It enables the creation of political
offices and a government.

(c) It defines and limits the powers of
government.

(d) 1t secures social justice, social
equality and social security.
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94. In India, which oneé of the following
Constitutional Amendments was widely
believed to be enacted to overcome
the judicial interpretations of the
Fundamental Rights?

(a) 1st Amendment

(b) 42nd Amendment
(c) 44th Amendment
(d) 86th Amendment

95. Consider the following organizations/

bodies in India :
1. The National Commission for

Backward Classes

2. The National Human
Commission

3. The National Law Commission®

4. The National Consumer Disputes

Redressal Commission =
above are

Rights

How  many of the
constitutional bodies?
(a) Only on€

(b) Only two

(c) Only three

(d) Al four

96. Consider the following statements :

1. Mt
of India is declared void by
the Supreme€ court_of India, all

in the

acts done by him/her

performance of duties of his/her

office of President before the date
of decision_become invalid.»

5. Election for the post of the
President of India tponed
on the ground that some Legislative
Assemblies have been dissolved
and elections are yet to take place.

3. When a Bill is presented to the
President of India, the Constitution
prescribes time limits within which
he/she has to declare his/her

assent=r
How many of the above statements are
correct?
(@) Only one
(b) Only two
(c) All three
(d) None

[PT.O:
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97. With reference to Finance Bill and Mo.ney‘
Bill in the Indian Parliament, consider
the following statements :

1. When the Lok Sabha transmits
Finance Bill to the Rajya Sabha,
it can amend or reject the Bill.

2. When the Lok Sabha transmits
Money Bill to the Rajya Sabha,
it cannot amend or reject the Bill,
it can only make recommendations.

3. In the case of disagreement
between the Lok Sabha and the
Rajya Sabha, there is no joint
sitting for Money Bill, but a joint
sitting becomes necessary for
Finance Bill.

How many of the above statements are
correct? '

(@) Only one
(b) Only two
(c) All three
(d) None

98. Consider the following statements :

Once the Central Government notifies
an area as a ‘Community Reserve’

1. the Chief Wildlife Warden of the
State becomes the governing
authority of such forest .,

2. hunting is not allowed in such area”

people of such area are allowed to
collect non-timber forest produce-

peoglc_: of such area are allowed
traditional agricultural practices

How many of the a ‘
correct? bove statements are

(@) Only one
(b) ; Only two

(¢} Only three
(d) Al four

99. With reference to ‘Scheduled Areas

in India, consider the following

statements : ' '

1. Within a State, the notification of
an area as Scheduled Area takes
place through an Qrder of the
President. . _

2. The largest administrative unit
forming the Scheduled Area. is the
District and the lowest is the
cluster of villages in the Block.

3. The Chief Ministers o.f the
concerned States are required to
submit annual reports to the
Union Home Ministry on the
administration of Scheduled Areas
in the States.

How many of the above statements are

correct?

(a) Only one

(b) Only two

(c) All three

(d) None

100. Consider the following statements :

Statement-I :
The Supreme Court of India has
held in some judgements that the
reservation policies made under
Article 16(4) of the Constitution of
India would be limited by Article 335

for maintenance . of efficiency of
administration.
Statement-II :

Article 335 of ¢t
India defines the
administration’.

Which one of the following i i

g 18 correct in
respect of the above statements?

(a) Both Statement—| and Statement—I]
are correct and Statement-IJ is the
correct explanation for Statement-]

(b) Both Statement-|
are correct ang Statement—|] is

Statement—] ¢t explanation for

(c) Staternentl
- is corre
Statement—II is incorrect 5 2
(d) Statement-l is

inc
Statement—ll is correctol'rect but

he Constitution of
term ‘efficiency of
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